3. They each have found a rule to connect the number of matches l 4. They each have found a rule to connect the number of sticks

with the number of squares in this sequence. ' to the number of circles.
0 00 00 0o OO0 OO0 OO0
4 7 10 13 2 4 6

| . number of circles multiplied
l A by2then take away2. _/
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It m = number of matches and s = number of squares e Write all the rules in algebra,

e One of the student's rules is incorrect. Which one?
e Which rule looks the simplest?

Karen's rule can be written in algebraas m=4s~(s~1)
® Wirite the other three students' rules in algebra.

® One of the student’s rules is incorrect. Which one? Look at some other sequences and try to write the same
®  Which rule looks the simplest? e iy
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